EARAROBREBRT —5 XN—ZXBISH—F 2023568128 () 4BIKR2H

Il C 2748 HSZ—E BRI
[AXE%€]) 1%&:350,000H  2%&:123,000H  33#%:70,000M  43%&:46,000H  53&:25,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ s3y 7 | BERA 1:24.4 2-2-1-1 | 40.1| - 8 483 | JBHZ (KR)
1155 | PY7EY 21— e 54.0 =) 3 | ILb=y¥T @)
RiFVIZARZ S :Hra0xy b ey e
<0 s 4 | AHNEE 1:24.4 3-3-3-3 | 40.0| — 5 422 | FEER KR
218|9|7A—YE—=X 54.0 F9) 4y |BARE
RIN—HNR B:F9PUEX KBS
= ~, 5 7 | EfRE 1:24.9 5-5-5-4 | 40.3| — 7 | 458 | 1BEGSE (EXRE)
311 [ZEF/F20 56.0 3) 1) |EREF
R:FVHIUVISR BF3VIATLU7— B %
ﬁx:a . iy Ny —_ HZUJEE (glﬁl)
EH 6 ZAFv—FLY L 4 8 e 1.(215).1 7-7-7-6 | 40.0 4 (4_72(; E‘jﬁ?ﬁﬂ?&
RPLSAN—F BELTIAA SR AERUS
» BRRE : -6-4- - alllE KR
N PIELAST B4 e 1(72?:; 6-6-4-4 | 40.5 2 zg;) 5'&3,\5—7
RTFRIAPIYIR B:IRIATAI oy
_ LT RO — : -3-6- - BPE— (KR
{2 rorscress 7 | EY RN
RILFYv ML B:TPINTFS TS
S 3 o= 3 P31 : -1-2- - THknZE (BRm
718|8 | NIWTa—R3A4T EIR 1%5 I 1 ﬁ ém%} )
R:RU=LVv—=— BTV /I3 —9— IRERIS
° BULRTE : -8-8- - FESF (CR)
8 4| EFTT i 4 o 1.(2763.6 9-8-8-8 | 40.6 9 (4+414) §a§% 7
RVIWN—RF—h B:TSYFIRAH BhRSw R
o 4 4 | BEEE 1:26.6 8-9-9-9 |40.4| - 6 532 | AWMEE (KR)
o BY 3| PILAN=IL %% e Oy | mEEE
RN—EVIv— BRyF7aY F—L— - I\ - T7—LBRR
@ 11— —‘@BIEfI
13—+— |[8,5,2,9,1,7,6,3,4
20—7F— 8,5,(2,9,1,7,6,4,3
BEIESSES 5,8,9,7,1,2,6,4,3
43—F— 5.8,9,(1,7),(2,6) ,4,3
o ILRE
BB 5 3,700 JA R 5-9 2,600 & 5-8 1,820 3EE 1-5-9 28,100/
B B 5 8804 1=5 2,670M 5B E 5-9 14,440 3EE 5-9-1 371,110
9 280 1-9 2,070M o= 5-9 34,0904
1 390

ABIC OV TRUTEREERRODDZE. THRIIZEL.




